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1 (a) Do you think the problem in India is "not so much knowledge

creation, as knowledge coosumption" and Scientific Social

Besponsibility (SSR) will go a long way in remedying this

situation ? Justi& your stand' Discuss the challenges associated with

the implementation of Scientific Social Responsibility' 5+5

OR

Technology plays a key role in transforming healthcare sector and in

addressing India's healthcare challenges - Discuss'

(o) ar66d{od0 $5oX>5 "€,$ f0d}l1o J5015 JDOob *S SO"*

63r:1J", 6. 5OilOC i0510ot56od zf&cS JSvaS aI656

(ssR) Sac$Jo6tobeJoo50 S:dD eeXDg\oe)d-)o' ? 5: EarOA

$JoQoi5o&. a"t&c[> JSIaS a"6sd eeJDe:>g! boa:o6or)'$

so,g,$o t5o3oi5o6. 
^+ters

(er) arderdd egdriS $o65ea X:*9,i0 X:0530o'56od' esdds So6$ea

doo"Cy 5rd36od Jo305e5 8oS J16 s'"")XDoa - '50:oi5o&'

(a) Digital platforms dramatically improve the quality and accountability

of public service and facilitate citizen centric governance - Elaborate'

Explain various Technical, Economic and Social bottlenecks in the

implementation of e-governance programmes in India'

OR

(b) Explain how 'Atmanirbhar Bharat' initiative is bringing a big change

in India s IT sector. Suggest the steps to be taken to make India a

Global technologY hub.

(b)
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2

10

2SAE-108

10



(er) 6aer5 loro-o qbzs" =,oJ dl5l a"ea56 JDOc6:)

a+aro66o"S1 6"5;n Erd0ttb6+o:r Jo0ctu #6 Bo16S6e!

Je;J,$o [:oaJ66o dQ'.or - f{650o$o6. aydelddoef a_

d56153 s.d515Jre.: esJoe>d S36 JoBOS, eeQS JDOob)

JJrdS eoSo5oodo 150o15o6.

ds
(qr) Ay66dd oei dotlod'er62&616 qy66,sd51SJoo -oS Srdr;,{o

Jer &tDSoJXlod 15oo,Io6. ay6e5dz.Cl lbbori Jo€&S
Bog6on" JrdleSS &du$o"O;J ,i65o,io Srr)orio6.

OR

(b) why is India's space industry looking for private sector investments

even though ISRO is a successfirlly performing pSU ?

(s) H:J-o aoS (Space Junk) elot: 5$e3 ? =dOn,S ero60$ J5yo Jg
JdD6d)5 X:og,lo JDoobr o-&e$ JD6b6 6.Jl X:oar5s

gX:JroSy t5o3or5o6. project NETRA /uOoD 5JS0 bSD 6e.ld\) r

eJs

10
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8. (a) what is space JunI ? Discuse the challenges posed by increased space

junk and the potential risk associated with it. What do you kn<iw

aboutProjectNETRA? U

(cr) lSRo Cac$5oelg,$ psu Geo),$X):e3S ar66 eoodOg SOtjrJD

ptseS 6od ?,:€.pa6oo $X:o JoCost dSySo6 ?



4. (a)

(b)

(er )

(e, )

Though circumstances are strongly insisting for India to overturn

decades of 'No first use' nuclear doctrine, still India is committed to

No first use of nuclear weapons - Comment' 10

OR

What is Green Energy ? Discuss about the Green Energy corridors

10and their need in India.

5a"6ro:n" 6J) '.S $',! cfryf'(No first use) ,Slsgc[>6 fu6roes1

66 dcilrg:$ i>oildoe->: 6$n ,S32,5'or55re.3S, eeEaJLQ"o'$o

ts)der 6'idvfior55rr650 al66ddo 5e.Uta:6 6o0

r5qv5co$o6.

eJg

Green Energy eoot: 550e3 z Green Energy sOG"Q tDOob

av66d{od s(3 eg5X>6o luOor) i501ot5o6'

5. (a) climate change is a global concern which needs urgent intervention to

combat it - Explain why. Discuss how climate smart agriculture

mitigates the devastating effects of climate change.

OR

(b) What is meant by open cast mining ? Discuss the impacts of open cast

mining on environment and solutions to overcome them' Add a note

. 
on the importance of post mining reclamation'
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6.

(o) *o56sa 5rdu3 eod6 1Sbo,5 $JoX:5, 6fc ":OO'}Ja"sS eS$ea

f55o eoJX>do - JoCo$ 150o$o6. climate smart agriculture

o"uJdec 5rdl3 dr:51 So"dBdSJ gbz,xre-:,{o Jer e58o,56e;d
1503o15o6.

eJs
(qr) 2,-o5 s"fu D&oE (open cast mining) esotr 5&oe3 ? $o"556eao!

L-":5 s',9 SCoF q$a,rl"o,lo JDOoSD ye^3& eg6dtDor5e&S
50J3o"o,to c501or.5o6. n-d pson g,$dr:Sdea tJfuq:Ser}
aIJDSSSD f6o.Jo6.

(a) What are various mitigation activities by the Government of India to

lower CO2 emission for trading of carbon credits in the international

market under Paris Agreement ?

OR

G) Explain various challenges associated with disposing of massive

amounts of Municipal solid waste. Discuss action plan for municipal

solid waste management in India for cities generating waste > 800

tonnes per day.

(er) JOF: a"$;o5o 15s"6o eooe5g&c[r JyOa.S carbon credit e)

o"5Jdo $So co2 aB-o"o,lo 6Qoc5a"CS z,yder 1b4be55o diS,$
fl6 6X)dJD,$ r5d5oJo SfDd ?

ds

(er) al6 ar€od 5r$3$e5 {uJ S5qnoJo }dtsc6>6oef X:oao{o
6Jf 136 X:;r$to IJOoJo6. ay6e5ddod 6'a5o soo ${0)e)
Arp SSpe)JD a.5fQ d=": Jr5o.S tuCfubd {oJ J5gi'o Cdsxrea

$X>o so.5,5dea (:ec"QS luOort d0;odo6.
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7. (a)

(b)

Biotechnolory has unlocked a vast potential for improving human life,

but the risks it poses are now a concem - Discuss throwing light on

blessing and curse of Biotechnology.

OR

Why is Ecotourism considered as a tool for conservation of Natural

heritage ? Discuss challenges associated with Ecotourism.

10

10

10

(o) adlEJs.)od SvSJ dSoC) ED(1)ltSOd C+6O,$ JIogn5odo

aOS8fuoa, *S oa Jg sOd lXriro'o eO)dD caodd,$

SOflX:llo'fo - adrE.:s.)od dr:S; 1X:d,rao-o IDOo$)

eel$dlade>-p lSdSS 6Oild 6a ;v5&l .103ot5o6.

eJg

(tr)

E. (a)

(b)

5o"55dec bo'Se.:s"$l (JS ofOao) X:Xra ;v6S65 50d$ea5o a"5

J6Jon'Jo6o5o i0lls5+6r z 5o"5Jdea $o"S0.:5o d X>oao6o

a,$r X>cfxo t5oto,5o6.

Why is antibiotic resistance getting worse in India ? Discuss the

strategies and action plans in India to deal with this.

OR

Bio-pesticides are slower in action compared to conventional

pesticides, with shorter persistence and susceptible to unfavourable

environmental conditions, but still there is a need to shift towards

Bio-pesticides - Explain whY
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(o ) qrderddod o5.yoe3a:ojye3S Sd65eS (antibiotic resistance) JoCuSo

Ses&t'oa ? 6ss J6od6Ja"&S ard6d{oeJ fslfq: Jooos)
s-o"5iSdea 65ea.Q5odo 15o;o$o6.

eJg

9. (a)

(b)

(er )

Why is the number of patents granted in India still a fraction
compared to China and US, even though India,s global position in
innovations has been rising over the years ?

OR

What are the tools required for the successfirl commercialization of
Intellectual Property Rights in India ? Discuss the role ofCIpAM in
commercialization of Intellectual Property Rights.

erlhldeood (tnnovations) qlde5d{o dr:S; 1b$or5 },$o lSJoorr
-":6IudoJl$fe3E, ay66dloey *tJoq X:oq:g ab3e38 tro
IDOoiD eg$Os-d erO=O ":oOS oer elSoSJn 6il.)o) ?

ers

(ep) q "d6d{oeJ $d X:oX:Q lr5olo tacbSo6D,$ +dd5S6eas1:

eoSX:dpJ J6o-er 5tue3 ? $6 $obQ lr5oao r.SJ6S6Ecd
ct PAM J1_6 luoor) d5o3ot5o6.

10
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(er) X:ogborcf: gduluJooCoe-re$ fFO=d ad:" gdufutooCoo:

(Bio-pesticidesl r56Sd EJo36rr 6oe.roJ, 65o3'$ X)e.D JDOob
g$&Sro i>o"55dec $Ofueloodu ir:C1e!p,$S, eoor:,$$;e3S a:dr
$dud:JooSoo ;ydSo Eb Syo"Of,$ eJX:6o 606 _ JoCDS
SJ0ot5o6.
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10. (a)

11. (a)

(b)

Ineffcient farning and poor distribution are reasons for the worlds

food shortage and the genetically moilified crops are a bad answer to

the wrong problem -: Comment. 10

OR

(b) Why is monitoring and weather forecasting crucial ? Discuss the role

of ISRO in the weather prediction and capabilities in Disaster

management. Add a note on Mission NISAR. 10

(eo) eex)JD{OJ 555J'cbo JDoctu';oJp,S ro3e8 sss* LbSo?5

eeXrsd Sd65o v6sJ"e), ado5Sdon'5rd:3 3o6,$ 5o€:o> '6e S6e5

6Qot5eCB bp,$ 1X:o55r)c$ro vCD - o"sqrJ0oi5od.

eJg

(er) Ju5d€c Xrv{sJ JDOctrr: SdStsSea Jo6o5o aer $:q:5$J6 ?

r@56$ eeodil" JDOcUD fbeb Sdsirea i"5oq-Soet' lsRo JLd

tuOo.) .50toc5o&. I)55 NISAR ! a,S llJo$S #6o*o&.
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Discuss how Artifrcial Intelligence manipulated digital media can

impact privacy, democracy and national security of a country' Suggest

solutions to tackle this infodemic . 10

OR

What is the current scenario of renewable power generation in India ?

Discuss the factors responsible for the growing focus and shifb

towards Renewable energ'Y. 10



(er) S.;g&to d:6 tesQ"dirc$d ao?.rO85J o"So" etbsydu dfu5

6ee.:e5 S:&ob n'f5el, 1$a"+5.Io5o Jo0o5r: d{ a"&c6; aJt_d6}

Jer qi:q;.5o .5y$elood d50;oc5o&. 6a X:iya"d Joirir30
(infodemic) $OXrlOod5rn$S $O*;o'o.io iu"3o.Jo6.

eJS

(er) z.:'ddd{oef O,$dury:5S I6o5eE a6.tQ 6r5a lb&6 6.;d5o

lfDd ? XyJduo.365 dg Eb dOil JogoCS sdeaS,$ eooa.o,$o

J03oc5o6.

12. (a)

(b)

(tl) &O S.g (coastat erosion) eoot: 5fue3 ? &d S650 sdecJod:s y6ye.>

tuOo.l r5O;oi5o6. ayd6ddods $?;Jo &do Sotr etrdu;

&Ood $eg .:oaos JSolJn 606 ?

eJg

(cr) 5y,$5 Co05Sdrtlo Je;,$ X:e556er01 o"{,$o dcS:a"SE

JoB35 $OgJo JydSJoon Jer es,So56o"5a6od .501od5o6.
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What is coastal erosion ? Discuss factors causing coastal erosion. Why

is erosion dominant in the Eastern coast than the Western coast in

India ? ru

OR

Discuss how technology translated into a medium for the destruction

of environment through human exploitation. 10



13. (a)

(b)

(s)

(er )

14. (a)

(b)

(er )

er65oe5 SDpSE$ uo$6ea e:$.so dI$ SaSao&l
1.5o -^:OJcS:-o 5o 50fue5o dc[:ao. JoSo EoSp,$ ,CQ*

t.s' -,oO;c[:F:, ce56ea &l56,io cre36 155oa"SS $.)1,$

t55v5o birc3 ?

eJS

ilS trS ecslod av66ddod 555JcS: don'S1 5r61o&E a,S

JdJo - d503oi5o6.

What are the reasons behind the India's opposition to sip. the

Non-Proli&ration of nuclear wealrcns (NPT) ? Discuss the impact of

the civil nuclear agreement with the Nuclear Supplier Group (NSG)

on nuclear power generation in India.
OR

What are e-waste recycling practices in India ? Discuss the highlights

of new e-waste management n:Jres 2022 notified by the Government of

India.

ee€E.soJ.r)qe.: vs& Cd65 (Nma $oetSo dc[:a'St ar66d{o
J5&dSoi56o 3,{oS s6ea"o: 5tue3 ? a}de5d{od esea: SCu55

605)93 eseo $6{)0"0'6o a;odo (NsG) 66 }d epeo z,I>)o5o

Jev Lbqlv&) tSv3od 15o3o15o6.

er5

(er) ar6eSddod e-3-* 8E9oE (e-waste recycling) 56doe-l bfue3 ?

avduS ls{b650.$csa dtu,$ su9 a-3Q d:6azoe5 dr53 zozz lnew

e-waste ma na ge ment r ules 2022) d)Sa $:elsoa"odo d503or5o6.

The most important climate goal is limiting the Earth's warrning to

1'5' Celsius. What happens to the world if we pass the crucial

1'5" Celsius climate threshold ? 10

OR

Block chain technology is the doorway to transforming the agriculture

sector in India - Discuss. fi

10

10

SAE-108 10



15. (a) Discuss why India did not sig:n the COP26 pledge to stop deforestation

and cut methane gas emission by 2030. l0

OR

(b) What are Gene Sanctuaries ? How do they protect the genetic

diversity of plants in India ?

(es) 2o3o il.csS eeeJs Cd:"Jo,$,{o es;)e$t lDOcfu S>dS ccfu6
6.Q"o'e)ID 6flo,5a-$3 cop26 LSAaE e,I66ddo X:oe5so

dcSrd6D- JoCo$,l0;oi5o6.

eJg

(er) dS eodoo (Gene sanctuaries) eootl SfJd ? ryddd{od tslSle->

aJo5 p$q-5,Cy eoS Jer s"*6edo ?

10
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